SR PR, BAMRLUE, RIS N n T

M §
7%7 ! H
[

. b |

i

No. |F=@fl s TR CANEN IR B Barm | BgUs ] WA | R
mm mm mm mm mm A FrKgs
1 NPO08-06 D6x6+M3x11.4 6 6 11.4 5.4 M3 0.5 NdFeB A
2 NPO08-10 D10x4.5+M4x12.5 10 4.5 12.5 8 M4 2.5 NdFeB i
3 NP08-10A D10x4.5+M3x12.5 10 4.5 12.5 8 M3 3.2 NdFeB 27
4 NP08-13 D13x4.5+M5x12.5 13 4.5 12.5 8 M5 6 NdFeB [
5 NP08-15 D15x5+M4x17 15 5 17 12 M4 5 NdFeB 7
6 NP08-16 D16x4.5+M6x12.5 16 4.5 12.5 8 M6 9.5 NdFeB i
7 NPO8-16A D16x4+M6x12 16 4 12 8 M6 7 NdFeB A
8 NPO08-16B D16x4+M6x12 16 4 12 8 M6 4.5 NdFeB 4
9 NP08-16C D16x5+M4x13 16 5 13 8 M4 8 NdFeB 27
10 NP08-16D D16x5+M4x13.5 16 5.2 14 8.8 M4 8 NdFeB [
11 NPO8-16E D16x5.2+M4x14 16 5.2 14 8.8 M4 5.5 NdFeB 27
12 NP08-19 D19.05x6.35+M6x14 19.05 6.35 14 7.65 M6 9 NdFeB [
13 NPO08-20 D20x6+M6x13 20 6 13 7 M6 14 NdFeB A
14 NP08-20A D20x7+M5x14 20 7 14 7 M5 14 NdFeB #H
15 NP08-20B D20x6+M6x16 20 6 21 15 M4 14 NdFeB 27
16 NP08-20C D20x7+M4x15 20 7 15 8 M4 9 NdFeB [
17 NP08-20D D20x6+M4x21 20 6 21 15 M4 14 NdFeB AR
18 NPO08-20E D20x7+M4x15 20 7 15 8 M4 13 NdFeB [
19 NPO8-20F D20x7+M8x15 20 7 15 8 M8 13 NdFeB A
20 NP08-22 D22x6+M4x12.5 22 6 12.5 6.5 M4 4.5 NdFeB L !
21 NP08-22A D22x6.5+M5x19.5 22 6.5 19.5 13 M5 15 NdFeB AR
22 NPO08-25 D25x7+M6x17 25 7 17 10 M6 20 NdFeB i+
23 NP08-25A D25x8+M5x16.5 25 8 16.5 8.5 M5 25 NdFeB AR
24 NP08-32 D32x7+M6x17 32 7 17 10 M6 35 NdFeB [
25 NPO08-32A D32x7+M6x14 32 7 14 7 M6 16 NdFeB A
26 NP08-36 D36x8+#1/4-20x14 36 8 14 6 #1/4-20 60 NdFeB L !
27 NPO8-36A D36x8+M6x18 36 8 18 10 M6 41 NdFeB A
28 NPO08-40 D40x7+#1/4-20x14 40 7 14 7 #1/4-20 65 NdFeB i
29 NP08-42 D42x9+M8x20 42 9 20 11 M8 68 NdFeB AL
30 NP08-42A D42x11+M8x25 42 11 25 14 M8 68 NdFeB [
31 NP08-60 D60x16+3/8“-16x32 60 16 32 16 3/8“-16 112 NdFeB 7
32 NP08-60A D60x15+M8x30 60 15 30 15 M8 113 NdFeB i

T AMESUT AR L SR W P 2 R AR RE | ORTEMR BRI FUC R EROBARLHE o WA T mAbser, WLARCASMRSUE . Bl
A RS OR R LR T, FRAFERST . ARSI . RGO . RIACHE . B EOREAE T HAR BT HIIRSS . WRE A R ENE A B R AR
BAE, R RBAT, BATR S BB G R G )

N L1 : +86(0)574-88302657

TRAMR T AR A A Al HEAE - info@vormag.cn ‘ﬁi i&ﬁﬂ@?

IRAHUE: WTIT A 1 B (X M 6 2185 41% AL, s a5~




